=5 4Y/HIE o[0ix|

Hn
g

ks

THE!:

AElL

AHQIYA AE!1.4305.
AE|QIFA AE!1.4404.
S20E.

EM O]

A™ A5 OlRelE AR AEI129 A3 R

Aodxdo 2 ntRE|E AHIQIHA AEl1.4305, AE|IQIB|A AE!I A2-70
A3F,

Aodxio 2 Ot R 2| AHIQIBA AE!1.4404, AE|QIB|IA AR A4-70
A3F,

AAxo Z ntFR2E R0, AHQHA AR A2-70 A3 7.

e
SEl8 33T Y FYS SUYOR ALES SULICH O|2ZM
AZE &4 gi0| HeHs| So{2E T 0fe 2 FHLAS 2T
ek

SO|AY HA HEo QI #ES 2alistx| fots D WEH =
25t & OIAL||:_|.
HE T AAE

AH|QIBIA ARIA4 4ROl 2R 2 2|F0l 22 S0l ZAIL
2= Hel:
-40 °C ~+175 °C

AL

CHE Rl

© HEINRICH KIPP WERK GmbH & Co. KG

D1
D2

www.kipp.com - info@kipp.com 1/3



°
Sug gl 2ay
EZS 29
gyg g 22|d
TEHS =& A B © D1 D2 R
(DIN 912)
K0612.00401 AE 9 M3x8 4 16 20,7
K0612.00501 AE 9 M3x8 5 16 20,7
K0612.00601 AE 9 M3x8 6 16 20,7
K0612.00801 AE 9 M3x8 8 18 22,4
K0612.01001 AE 9 M3x10 10 24 26
K0612.01201 AE] 11 M4x12 12 28 31,8
K0612.01501 A8 13 M5x16 15 34 39,4
K0612.01601 AE 13 M5x16 16 34 39,4
K0612.01801 AE] 13 M5x16 18 36 41,1
K0612.02001 A8 15 M6x18 20 40 46,4
K0612.02201 AE 15 M6x18 22 42 48,1
K0612.02501 AE 15 M6x18 25 45 50,8
K0612.02801 A& 15 M6x18 28 48 53,7
K0612.03001 AE 15 M6x18 30 54 58,6
K0612.04001 AE 15 M6x18 40 60 65
K0612.05001 AR 19 M8x25 50 78 87
K0612.00402 AE|QIBA AE 9 M3x8 4 16 20,7
K0612.00502 AE|QIFA AE 9 M3x8 5 16 20,7
K0612.00602 AHQIHA AE 9 M3x8 6 16 20,7
K0612.00802 AE|QIBA AE 9 M3x8 8 18 22,4
K0612.01002 AE|QIFA AE] 9 M3x10 10 24 26
K0612.01202 AEQIBA AE 11 M4x12 12 28 31,8
K0612.01502 AEQIFA AE] 13 M5x16 15 34 39,4
K0612.01602 AE| QA AE 13 M5x16 16 34 39,4
K0612.01802 AE|QIBA AE 13 M5x16 18 36 411
K0612.02002 AE|QIP A AE 15 M6x18 20 40 46,4
K0612.02202 AEQIBA AE] 15 M6x18 22 42 48,1
K0612.02502 AE|QIEA AE 15 M6x18 25 45 50,8
K0612.02802 AE|QIP A AE 15 M6x18 28 48 53,7
K0612.03002 AEQIFA AE] 15 M6x18 30 54 58,6
K0612.04002 AE|QIBA AE 15 M6x18 40 60 65
K0612.05002 AE|QIEA AE 19 M8x25 50 78 87
K0612.00404 AEQIFA AEI A4 9 M3x8 4 16 20,7
K0612.00504 AEQIFA AEI A4 9 M3x8 5 16 20,7
K0612.00604 AEQIFA AEI A4 9 M3x8 6 16 20,7
K0612.00804 AE|QIE|A AEI A4 9 M3x8 8 18 22,4
K0612.01004 AHQIEA AR A4 9 M3x10 10 24 26
K0612.01204 AE|QIFA AEI A4 11 M4x12 12 28 31,8
K0612.01504 AEQIFA AEI A4 13 M5x16 15 34 39,4
K0612.01604 AEQIFA AEI A4 13 M5x16 16 34 39,4
K0612.01804 AE|QIHA AEI A4 13 M5x16 18 36 41,1
K0612.02004 AEQIFA AEI A4 15 M6x18 20 40 46,4
K0612.02204 AEQIFA AEI A4 15 M6x18 22 42 48,1
K0612.02504 AEQIBA AEI A4 15 M6x18 25 45 50,8
K0612.02804 AEQIFA AEI A4 15 M6x18 28 48 53,7
K0612.03004 AEQIFA AEI A4 15 M6x18 30 54 58,6
K0612.04004 AHQIBA AE A4 15 M6x18 40 60 65
K0612.05004 AE|QIE|A AE A4 19 M8x25 50 78 87
K0612.00403 g20lE 9 M3x8 4 16 20,7
K0612.00503 g2 0ls 9 M3x8 5 16 20,7
K0612.00603 g =0lE 9 M3x8 6 16 20,7
K0612.00803 g0l 9 M3x8 8 18 22,4
K0612.01003 g2 0lE 9 M3x10 10 24 26
K0612.01203 g =0lE 11 M4x12 12 28 31,8
K0612.01503 g20lE 13 M5x16 15 34 394
K0612.01603 g2 0lE 13 M5x16 16 34 39,4
K0612.01803 g =0l= 13 M5x16 18 36 41,1
K0612.02003 g0l 15 M6x18 20 40 46,4
K0612.02203 g2 0lE 15 M6x18 22 42 48,1

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



[ ]
=E2Hil = >
Sz gy
== g9
FEHS =4 Z 2 B © D1 D2 R
(DIN 912)
K0612.02503 AE0s 15 M6x18 25 45 50,8
K0612.02803 g20lE 15 M6x18 28 48 53,7
K0612.03003 gd20lE 15 M6x18 30 54 58,6
K0612.04003 Y20I=E 15 M6x18 40 60 65
K0612.05003 g20E 19 M8x25 50 78 87
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



